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S IThe solutionl Z

. 1+x_ S5+x
"5+x 17+4«x’

S(14+x0)A7+x)=5+x)05+x)
& 17 +18x +x* =25 + 10x + %

~17+18x =25+ 10x ,
=25-17

s~ 18x — 10x

~8x=8, x=1

6)If y x x and y = 40 when x = 14, then
find x when y = 80

Z IThe solution | S

ryxx o,y =mx ,-40=m(14)
PR T R U
w7 “Y=73
20 20
~80==x, ~x=80-+—=28
7 7
a+2b b+3c
Gl ——, provethat: a < ¢

> El'e soluti(M <

_‘a+2b_b+3c
6 3

= 3(a+2b) =6(b+3c)

18
~3a+6b=6b+18c ,~ 3a=18c ,:-a=?c

(8) From the data of the following table ,
answer the following questions

X 2 4 6
Y 6 3 2

A) Show the kind of variation between y and x

B) Find the constant proportion

C) Find the value of y when x=3

D) Find the value of x when y= Zé

uhe Solutﬂ <

A)When xis increase y is decrease

So the relation is inverse variation .

B))’:% 6=
1
C) y= 7:?:4

2 12 .92 _
D) 2;—7, x=12 T25—5

(9) Calculate the mean and standard deviation
of the set of values : 65,61,70,64,70, 76,70

ﬂle solutiw <

65+61+70+64+70+76+70

The mean (X) = - =68
x x-x (x-%)°
65 65—-68=-3 9
61 61-68=-7 49
70 70 - 68 =2 4
64 64— 68 =—4 16
70 70-68 =2 4
76 76-68=8 64
70 70-68 =2 4
150

i 150
Then the standard deviation (6) = \]T ~4.6

10)The following frequency shows the ages of 10

student :

Agein |5 8 9 10 12 Total

years

Number | 1 2 3 3 1 10
of

children

Calculate the mean and the standard
deviation to ages in year

2 | The solution I S

i k xk | x-% |- | (x-%’k
3 L 5 59 |16 16
8 2 16 89 |1 2
9 3 27 9-9 |0 0
10 |3 30 10-9 |1 3
12 |1 12 12-9 |9 9
total | 2k =10 | Zxk =9 Bx—%)*k =30

WX Zm = % =9 ,The standard deviation

B (o) = \/— 1.7 years.
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) Ifx=1{1,2,5,Y={23,78}and Risa
relation from X to Y where "a R b" means
"a+ b = an odd number" for all

a € x, b € Y Write R and show thatitis a
function.

S {fewin] <
R={(1,2),(1,8),(2,3),(27),(52),(5,8)}

The relation is not function because each
element in x has more than ane in y

O)Iff(x)= ax+4 and f(1)="7

then find the value of : f(4) + £(2) - £(5)
S [euim] <

f1)=7 »T=ax1+4 ,:7=a+4

,ca=3 f(x) =

A f(4)=3x4+4=16 ,

3x+4,

2 f2)=3x2+4=10 ,
Zf(5)=3x5+4=19 ,

. the valueof f(4)+f(2) - f5)=16+10-19=7

10) IF :X = {234} , Y= {34,56,,8} and
f:x—>Y where f(x)=9—-x Find the
images of the elements of X by the function f

S (Tewhin] 2

The images of the elements of X by the

functionfis{7,6,5}

| Answer the following questions Unit (2) |

(1) ) Find the positive number which if its
square is added to each of thetwo terms of
the ratio 7: 11 it becomes 4:35 .

2 IThe Soluﬁonl S

2+7 4
2+11 5

Let the number x ..
Sx’-4x’=4-35

SSETHD =41 -

Then the positive number is 3

(2)Ifa,b,cand d are proportional

quantities , then prove that ~— = (

;.—.:

a £
—===m than a=bm ,c=dm
b d
ac _ bmxdm
i)L.H.S. = =m?
bd
bm— dm m[b-d]

RECS, = P20 (5 e

~LHS.=R.H.S.

(3)If b_is the middle proportional between

a_and ¢

2c2-3p2 (2
, then prove that: =

262 —3a2 B2
’ The Solution (
2232 2¢2-3 clm?
L.H.S.= =
2b%— 3u2 2¢imZ—3c2m*
ct(2-3m?H) 1
2m?(2-3m?)  m?
2 2
c [ 1
R'H'S'=b_2= I =ﬁ

(4))1f3a = 2b , then find the value of :Ba_—b
2a+b

2 |The soluﬁonl S

“3a=2b,%

2
=§ ,sa=2m,b=3m

=2

_3a-b _ 3Q2m)-(3m) _3m _ 3

T 2ath  22m)+(3m)  Tm 7

(5) Find the number that if we add it to
each of the numbers : 1, 5,17, then they
become in continued proportion.

o Ol e Joaz!l 2 ‘n.g.t.\.cl.m.nﬁ A!gl‘

(3) Draw the function f(x) = 4 — x? ,
where x € [-3, 3], then find :

1) the vertex of the curve.
2)The max. or mini. Of this curve.

3) The equation of x

S coin] 2

x |3([-2/-1(0(1|2|3

Fx) | Ss|o[3][4[3]0]5

DThe Vertex=(0,4)

2) The maximum
value aty=4

is symmetry. about Y-axis

when X=0

@Ifx=1{1,2,3},y=1{136,9,13} and Ris
a relation from X to Y where aRb means
<<a:§b>>fora]l a€x, bey,Write

the relation , represent it by arrow diagram
and find its rang , Is the relation is function or
not ? Why?

2 IThe Solution I S
R= {(11 3)1 (21 6)1 (31 9)}

The range = { 3,6,9}

The relation is function

, because each

element in X has one image in Y

(5) If function F ={(1,3),(2,5),(3.7),4.9).(5.11) }
, then :

a) Write the domain and the Range of function
b) Write the rule of function.

Z | The solutionl S

a)The domain= { 1,2,4,5} ,

the range = {3,5,7,9,11}

The rule of the functionis f(x) = 2x+ 1

(6) The opposite figure represents the curve of
the function f where f(x) = x* + kif 04 = 9 units.

Find : X,
@The value of k
®@The coordinates of B and C

®The area of triangle with vertices

A,BandC v

S T |2
@~ 04 =9 units A=(0,-9),
A(0,-9) lies on the curve, - (0, —9) satisfies

the equation of the curve, . —9 = 02 +k ,
k=-9 “fX)=x*-9

@ ** The curve of the function intersects

x —axis at the point B and C
2xt=9=0 ,.x*=9 ,.x=4+3

~B(3,0) ,C(-3,0)
0A = 9 Length unit.

,» BC = 6 length unit ,

® .. The area of triangle ABC =3X 6 X 9

= 27 square unit..

(7) Represent graphically the linear relation
y=2x-1

The Solution
X 0 1 2
Y -1 1 3
/ b
K h X
EER >
V

LDg0A .

(a) M? (b) M? (©)2M (d)%

20 If a,3x, b and 5x are proportional
quantities , then %=

@;  ®  © @15

Choose the correct answer Unit (3)

22) If all individuals value are equal in

values , then .................
(@)6=0 bx=0
©x—-x>0 dDx—-x<0

23) The arithmetic mean of a set of the
values:a,5,8,7,6 equals6,thena=...

(@3 (b) 4 ©5 @6
24) The simplest and easiest dispersion
measureis .................

(a) median (b) the range
(c) mean (d) mode

25) Selecting a sample of layers of the

statistical community is called..... sample
(a) random (b) stratified
(c) deliberate (d) cluster

26) If 65 is the greatest individuals of a set
of individuals and its range is 29 , then the
smallest individuals of this set equals ......

@35 37 (©38 ()36

NI Y(X - X)% = 48, for a set of of
values whose number is 12 , then

@W-4 ®-2 @©2 @4

28) The ............
the dispersion.

.Is one of the measures of

(@)Mean (b)mode (c)rang (d)median

2 |The solutionl S

1) (b) 2)() HE
HE 10 6 @
7 ®) 8 9 ()
1) ) 11) () 12) (b)
13)@© 149 @ 15 @
16) (a) 17) ) 18) (b
19) (a) 20) (b) 2) &)
2) @) 23) (b) 24)(h)
2) () 26) (@) 7)(©
)@

[2]] Answer the following questions Unit (1) :
)X x¥=1{11),0,3),(15)}
Find:®X, Y

@¥YxX

Z |The Solutionl S

Ox={1) , ¥Y={135)

@YxX={11),31),51)}

Q) Ifx={1,56}, y=1{5}, Z=1{2,3}
Find: @ n(X x Z)

Q¥nX)xZ
OEWNX)XX-Y)

S |The solutionl Z

OnXx2)=3%x2=6

@ (YnX)xZ = {8x{2,3}=((5,2),(5,3)}

Q¥nX)x(X-Y)={5}x{16}={(51),(5,6)}
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Final Revision ( Algebra)

For 3" Preparatory

[1] | Choose the correct answer: { Unit 1)

1) The point (~3,4) liein ...... quadrant.

(a)first  (b)second  (c)third (d)fourth

YIEX XY ={(2,3),(2,4)}, thenn(X) =...
@2 M1 (094 @3

3)If f(x) =2x+ b, and f(5) = 11, then

()3 ®m2  (©1 @0

4) If the point (5, b — 7) located on the

x —axis,thenb=...........
(a) 2 (b) 5 (©7 (d)12

HEG,x-7)=F+1
XY =i

,—5), then

@5 ®-1 @©6 @0
6) 1f (1,4) € {1,5} x {x,7}, then x =.....
@1 M2 (©3 @4

7) If f is a function such that f: R - R, f(x) =
then L& =......

f(zero)
(a)6 b1 (©3 (d)undefined

8) If f is an odd number , then the Pervious
odd number directly is ........

@f-1 (b)f+1
(©f-2 @f+2
9) Half of the number 227 is
@2°  m1* ©2° @1
10) If f(x) = 5, then f(-3)=..........
@38 (b)3 ©5 D5
11) The function : R » R : f(x) =x% — (5 + x?)
, i polynomial of the ... degree.
(a)firt  (b)zero (cSecond  (d) third
1) If:x={3},y = (5} then n(x X y) =......
@5 M1  (©3 @15

Choose the correct answer Unit (2)

13) The third proportion of the two numbers 9

a) 16 Hns 916 d) 108

14 ) The relation represents the direct variation
between the two variables x and y which is:

Axy=5 h)y=x+3 c)_:L d)_5=_32’

15) Which of the following relations
represents the direct variation between
xandy

@yax Myar? @©ya; @ ya:

17) The middle proportional between 3 , 27

(@) -9 (b9 ©19 @81
o X LY _
18 If- = t- k' then K= ...........
(@9 ®13 (c)14 (d)8
A_5 34
19 If E = ;,then B equals .............
@1 (b)§ ©3 (d)15

20) If M represent any negative number ,
which of the following does represent

positive number ?




